LISTENING

1 W Listen and match the speakers with the holiday
plans (A-E). There is one extra plan.

1. Martha
2. Peter
3. Ruth

4. Oliver

A is cycling from Scotland to the south
coast of England.

B is going away to relax.

C is going to an unusual place and is
worried.

D is planning to do some sightseeing.

E is going to do a sport.

2 (i Listen to the four people again. Are the
statements true (T) or false (F)?

1 Martha is travelling to Switzerland.

2 Martha knows what the hotel is going to
look like.

Peter is going to the US with his family.
The concerts in Central Park are quite
expensive.

Peter is only going to visit one city.
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Ruth is going to Cornwall alone. J
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Ruth is going to jump sixteen metres over
the sea.

Ruth is staying in a tent.
9 Oliver’s cousin is driving him to the Lake
District.
10 Oliver isn't going walking or climbing.
11 Oliver’s going to have a very busy holiday.
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